                                                    ASSIGNMENT  8
  CLASS-4TH                       Chapter no. 16                           SUBJECT:-MATHS
1Q.Solve these 
a)  14kg 451g + 13 Kg 129g+ 91 Kg 72g
b)  15m 43 cm×9
c)120 Kg 200g – 25 Kg 750 g
d) 100 L 900 ml – 5 L 750 ml 
e) 60Km 372m ÷ 9
f)  1342L913 mL÷13
2Q.A tailor had 20m of cloth.He 2m 40cm and 2m 59cm to make two  shirts. How much cloth was left?
3Q.Honey  uses 7Kg 500g  of  cotton to make one mattress. How much cotton will he need to make 5 mattresses?
4Q.A  container contains 8L 450Ml of  kerosene oil .If 1L 750mL is poured into a stove , how much kerosene oil is left in the container?
5Q.The weight of Arshil ‘s father is 78kg  and the weight of Arshil is 32kg .Who weighs more and by how much?
6Q.Meenu purchased 2kg 400g apples and 1kg 550g oranges .How much weight does she carry now?
7Q.Add  
         3km+2km 500m+6km 750m
8Q. Subtract    75km 500m from 100km


